September 05, 2013

E—l Variables in Sen‘rencea

Warm-up
1. Name 2 similarities and 2 differences between the following...
4x+2=10 4x + 2
, Similarities: Differences:

‘both adding /. onlyone has =/0
2.hoth have 4% 2. —
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3. Define the following symbols...
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1. Write an inequality that compares 2/5 and 3/4. 2_@_3
2% g 5 ¢
3w30 203
3if 45 4075
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2. Which numbers 7, 8, 9, otg@ is a solution to the following
open sentence?
2x +42>7x
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3. Find all solutions to x2 = 81. !X:ﬁ Zf - = ﬁ]

X-x=3I
9.9=%/ avp —§-9=1%/

4. Find all integer solutions to x3 = -8.

— v o=
S32A,0,1,2,3. . _3(:_’5 Zg =_%% x=-=2]

5. Bob earns more than $25 a week.
a) Write an/pen sentence describing the amounts e that

Bob can earn in a week. /\AS a variod b/g.

2= roney earned

e>25]

b) List three possible solutions.

¥, %50, Q|




